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® ¥

3 2 bt ¥ (FEsEfER) 10kg 3,020 3,020 3,020 3,020 3,020
& 3 > lkg 312 270 300 285 262
BB h E H A 148 50 52 55 54 51
% < A 100 g 301 231 265 245 262
» [ 100g 150 148 120 128 182
v b L 100 g 32 26 33 20 39
F I 100 g 34 27 41 23 37
& n 100g 282 229 273 235 246
74 & 5 100 g 247 249 362 257 249
7 [ z 100g 410 365 404 333 339
4 AF) 100g 241 300 300 © 358 290
73 A () 100 g 123 148 131 123 157
% 53] 100g 96 97 111 114 122
PN A 100 g 149 190 157 157 173
4+ FLOASE) 200cc 53 53 54 54 54
Y ¥ — 158 327 330 342 333 330
® i 1kg 293 293 295 283 315
* X ~ 7 1kg 90 103 112 109 115
09 o A H 1kg 340 344 317 320 428
b Y & lke 233 148 253 251 236
5 n w»w L g lkg 148 125 160 192 ~ 176
X b l1kg 128 139 128 139 128
B fa & lkg | 113 107 163 137 139
E3 » 5 n lkeg | 369 333 378 424 426
b - b 1ke 361 322 400 358 405
[ — e > 1kg 406 356 429 406 441
x g 100 g 51 36 62 58 42
+ L 2 U] 1 b 238 - 246 251 308 298
b P & 100 g 226 329 200 204 220
g & 100 g 19 16 17 18 20
TH 27 ¥ 100 g 85 92 100 123 98
A oxw < 100g 25 25 21 23 22
o F iz z 100g 64 70 67 72 61
2K B A DT 100g 51 34 45 55 55
2 T O A H 146 322 313 286 306 214
=] = 5% v 100g 52 48 67 46 58
L i 9 i 2 4 428 437 500 404 464
A % 1ke 228 360 313 278 302
W ¥E 1kg 207 236 253 220 230
" H H 700 g 298 306 359 363 384
it % #| =K # 120g 240 220 234 244 234
# Z va 5 100g 135 131 120 204 145
X v 7 A N 148 43 50 43 45 41
HOo¥ A N n 100 g 94 100 90 143 85
H # 5 100g .65 73 85 71 69
n A (L) lkg 410 460 473 434 417
s + + 1kg 202 176 204 202 198

— 200 —



Yofii - et

5ROl A& (BBRIS3E) — 51—
HAr:m
O£ bl % W Lt B # % B W BE K

# x 100 g 190 97 182 173 155
A ¥A%> P a—C— 150 g 1,000 1,125 1,050 1,131 1,060
2 = £ *t 1% 60 60 66 60 60
7L 73 # * 633mb 371 380 369 350 341
» F 5y A 1#F 177 190 200 191 200
v = 7 4 2 11 377 358 450 363 350
El L 1 A 767 667 600 717 600
= E

~ = x K 1# 450 366 381 381 402
+ A > k 145 598 650 638 618 692
B ER N B 2B 14 3,719 4,056 4,289 5,500 4,058
x I F M O£ 1B 9,500 8,500 9,333 9,583 8,750
& 5 18 208 189 210 152 174
BE % v A 11 3,455 3,633 3,985 3,623 3,740
% ~ 18 1,411 1,415 1,617 1,193 1,525
R 7 A 118 1,736 1,782 1,983 1,569 1,868
H 7 - F v E A 127,817 128,183 128,000 130,267 128,958
E S OB B & = 107,161 105,483 105,500 99,667 106,167
* ®

T i 18¢ 697 679 697 684 742
2 - TEPL IR 10m° 13,328 3,246 3,378 3,282 3,475
# SR :

B NES) 1% 40,358 41,100 44,000 38,667 45,000
A A = MR 1 5,229 4,530 4,536 3,790 5,967
®mA X — 7 —(%) 1# 4,914 4,771 4,050 3,667 5,183
7 4 ¥ ox V(IR 1% 2,760 2,703 2,100 2,500 2,850
B T o V(B 1% 600 620 615 504 600
Z, I w 7 18 1,720 1,288 980 1,169 1,190
B F < o F 1R 410 554 465 346 500
mA K ¢ 2 F 1R 200 204 200 169 250
£ viil 1# 3,492 4,528 2,700 3,342 4.550
L4 A 1# 1,160 1,233 1,300 1,308 1,233
5 F B & 1E 6,833 5,167 6,800 6,497 6,600
i A I3 Bt 1R 6,928 4,667 6,538 5,500 5,900
- 7 » A VAR ¥ 1% 46,000 47,250 56,250 52,667 57,250
o O ROEFR) 1% 791 967 1,078 761 1,048
-3 . "

T =] E 3 15 659 621 670 638 683
®aEvE 2 v 14 700 700 700 668 700
A b B(RA) ‘1 113 113 113 113 100
. - 1@ 2,041 2,000 1,967 2,000 2,000
I R N 1 [ 4,125 3,500 4,000 5,000 3,800
it # & i A 118 75 80 72 78 80
®+ A 2 < A &k &l 1.66kg 600 583 600 617 585
7 v Y > 1L 101 103 103 \101 105

, _ L

7 =i - 7 11 5,069 5,125 4,375 4,836 4,233
A (h—F—r3) 14 86 101 79 83 94
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